HanmeHoBaHue CoctaB bpytTo |Hetto |Benkn [XKupbl |Yrnesoabl [Kkan |Bbixog
ontoga
1 neHb 3aBTpak:
1.Cyn mon. BepMuLlesn 25 25 2,08 0,2 13,6 67,4
BEpMULLESTb. MOJIOKO 150 150 4,5 5,1 6,87 82,5 200
Cax.necok 8 8 11,2 31,8
M.CITMBOYH. 5 5 0,06 3,6 0,04] 33,05
COMNb 1 1
UTOrO: 214,75
2.bytepbpos Xneb nuwen 100 100 7,6 0,9 49,7 187,2
M. CITUBOYH 15 15 0,2 10,8 0,1 99,1]100/15
CbIp | 12 12 3,2 3,2 43,2|12 25
konbaca B3 25 25 12,2 0,5 2449
UTOrIO : 574,14
3.KoderHbin Kocpe 4 4 0,6 0,7 4,7
HanUTOoK MOJI0KO 100 100 2,8 3,2 4.7 58 200
cax.necok 15 15 14,9 58
UTOrO: 120,7
NUTOIO: 972,3
O6ep,
1. Canat Kanycrta 120 100 1,11 0,06 3 17,3
M3 CB.KanycTbl MOPKOBb 15 12 0,11 0,001 0,8 21,1
nyK 15 13 0,1 1,1 53 100
caxap 5 5 5 18,9
Macro pac 5 5 5 44,9
COonb 1 1
NTOro 107,5
2.Cyn ¢ gom MyKa 20 20 2,06 0,2 13,6 65,4
nanLwon Ha anua 5 5 0,6 0,5 0,03 7.8
Kk/6-He Connb 2 2
KapTodeny 120] 100,8 3,7 5,4 29,3 120,1
roBsguHa 35| 26,2 7,42 5,51 79,19 300
nyk 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4.6
M.CITMBOYH 3 2 0,04 2,1 0,02 19,8
M.pacTuT. 2 2 1,9 17,9
npunpasa 1 1| 0,009 0,005 0,146 0,67
CB. 3€JIEHb 10 10 0,03 0,24 1,1
UTOro: 321,46
3.MNnoB M.roBs, 75| 52,5| 13,02 9,8 158,3
MSICHON puc 40 40 3,8 0,2 40,6 13,2
MOPKOBb 20 16 0,1 0,01 0,99 4,6
M.CIMBOYH 4 3 0,04 2,1 0,02 19,8 250
M.pacTut 2 2 1,9 17,9
COJib 1 1
nyk 20| 16,8 0,1 1,09 4.9
npunpasa 1 1| 0,009 0,005 0,146 0,67
CB.3€IEHb 10 10 0,03 0,24 1,1
UTOro: 220,47




4.xneb pxaH, p>xaH 100 100 8,2 1,5 48,1 247,2
NWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
NTOrO: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 c/c cax.necok 17 17 15,3 60,5 200
UTOrO: 99,8
NTOIO: 1,104 .4
MongHuk
1.CoK OpyKT. Cok 200 200 1 4,74 112 200
2.OpykThl A6110KM 300 300 3,75 52,5 98 300
UTOrO: 98
3.BatpyLuka KapTogeny 60| 57,6 2,4 4,3 28,7 118
C KapTod. MyKa 35 35 4,24 0,4 27,5| 130,8
anua 10 10 1,1 1,4 13,7
COJib 1 1
MOJI0KO 10 10 0,5 0,6 0,9 11,6 80
OPOXOKM 3 3 0,2 0,04 1,1
M.CITUBOYH. 6 6 0,06 3,6 0,04] 33,05
M.pacTuT. 2 2 1,99 17,98
Cax.necok 5 5 11,2 31,8
WTOrO: 358,03
NUTOIO: 568,03
1 YXuH
1.Canart nyK 50 48 4,14 4,91 8,1
NYKOBbIN pacTt.macn( 5 4,99 44,95 48
Cconb 1 UTOro: 53
2.Kapr. KapTodeny 300 216 4,05 7,45 47,9 198
niope ¢ nyK 20 16,8 0,1 1,09 4,9
3an.pbioon MOPKOBb 20 16 0,1 0,01 0,99 4,6
MOJOKO 10 10 0,6 0,7 0,9 12,6|269/113
Cconb 2 2
M.CInuB 5 5 0,06 3,6 0,04| 33,05
M.pacTuT. 3 3 3 26,9
CB.pblba 220 108 25,8 1,4 115,2
AL 5 5 1,1 1,4 13,7
CB.3€eMNeHb 10 10 0,03 0,24 1,1
UTOrO: 411,43
3.Xneb ¢ macnom XI.MLWeH 100 100 7,6 0,9 49,71 187,2
XIN.pXKaH 50 50 8,2 1,5 48,1 82,4
M.CITUBOYH, 15 15 0,2 10,8 0,1 99,1
UTOro: 368,7
4.kakao Kakao 3 3 12,1 0,3 0,5 7,4
C MOJIOKOM MOJIOKO 100 100 3,3 3,7 5,2 58,5 200
cax.necok 15 15 14,9 58
WTOrO: 123,9




I
UTOIO: 957,03
2. YKUH
1. PskeHka psKeHKa 200 200 5,86 3 22,54 140 200
2.koH. U3n. nevyeHbe 30 30 1,8 2,9 18,6 104,2 30
NTOIO: 2442
KANTOPUMHOCTb CYTOYHOIO PALJMOHA NMTAHUA| 3845,9
2 neHb
3aBTpak
1. AnYHbIN MOIOKO 100 100 2,8 3,2 4,7 58
omMmnet anua 80 80 10,1 9,2 0,5 125,6 186
COJib 1
M.CIB 5 5 0,06 3,6 0,04| 33,05
WTOrO: 216,65
2.6ytepbpos xneb nweH 100 100 7,6 0,9 49,7 1872
M. CITUBOYH 15 15 0,2 10,8 0,1 99,11100/15
cbip | 12 12 3,2 3,2 43,2 12/
kon6. Bape 25 25 12,2 0,5 2449 25
UTOrO: 574,14
3.Yan cn. yan 3 3 0,1 0,02 15
MOJTIOYHbIN Cax.necok 15 15 17,8 65,7 200
MOJIOKO 100 100 2,8 3,2 4,7 58
UTOro: 125,2
NTOIO: 915,9
O6en
1.Canar MOPKOBb 120 92 1,2 0,09 6,5 30,3
MOPKOBHbIW M.pacTuT. 5 5 5 449
caxap 5 5 5 18,9
Cconb 1 1
UTOro: 94,1
2.bopuy, cMeTaHa 10 10 0,3 2 0,3 20,6
Ha K/0 co Kanycra 80 68 0,8/ 0,04 2,2 12,9
cMeTaHoun cBekna 80 68 0,7 4,3 19,6
nyK 20 12 0,1 0,09 0,99 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6 300
M.CIUBOYH | 2 2 0,02 2,08 0,07 18,51
roBsanHa 35 26,2 7,42 551 79,19
COJib 1 1
KapTodeny 120 83 1,6 0,3 13,5| 68,06
npunpaea 1 1| 0,009 0,005 0,146 0,67
CB.3€€EHb 10 10 0,03 0,24 1,1
M. pacTuT. 2 2 1,9 17,9
UTOro: 248,03
3. Tyw kapt KapTodeny 300 216 502 2,72 34,18 150




C OTB.KYp. M.ATULbI 100 47 11,4 5,1 0,3 89,5
nyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6
M.CITMBOYH. 3 3 0,04 2,1 0,02 19,8
M.pacTuT. 2 2 1,9 17,9
COnb 1 1
CB.3€NeHb 10 10 0,03 0,24 1,1
UTOrO: 288,47
4.xneb pxaH, p>xaH 100 100 8,2 1,5 48,1 247,2
NWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
NTOrO: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 c/d cax.necok 15 15 15,3 60,5 200
UTOrO: 99,8
NUTOIO: 1085,6
MonaHuk
1.CoK OpyKT. Cok 200 200 1 4,74 112 200
2.DpyKThI A6110KK 300 300 3,75 52,5 98 300
UTOro: 98
MyKa 60 60 6,3 0,7 41,2 200,4
3.bnHymkmn MOJIOKO 70 70 2,2 2,5 3,7 46,4
OPOXKN 3 3 0,3 0,08
M.CITUBOYH. 6 6 0,06 3,6 0,04] 33,05
M.pacTuT. 5 5 10 89,9
COonb 1 1
anua 10 10 11,2 2,3 0,1 15,7
caxap 10 10 15,3 60,5
UTOro: 445,95
NTOIO: 655,9
YXuUH
1.Canar KapTogeny 120 86,4 1,6 2,98 19,17 79,32
"Moneson" nyk 15 12 0,1 0,91 4,1 100
M.pacTuT. 5 5 5 449
Cconb 1 1
UTOro: 128,32
2.JleHuBble roesguHa 75| 52,7 14,8 11,02 158,3
ronyoupbl Kanycrta 200 160 3,2[ 0,18 8,4 48,6
puc 15 15 0,03 1,4 0,02 13,2
nyK 20| 16,8 0,1 1,09 49
MOPKOBb 20 16 0,1 0,01 0,99 4,6 280
M.CITUBOYH, 3 3 0,04 2,1 0,02 19,8
M.pacTuT. 2 2 1,9 17,9
COJib 1 1




npunpasa 1 1l 0,009 0,005 0,146 0,67
CB.3€leHb 10 10 0,03 0,24 1,1
WTOrO: 269,07
3.Xneb c macnom Xn.nweH 100 100 7,6 0,9 49,7 187,2
XI.pXKaH 50 50 8,2 15 48,1 82,4
M.CINNBOYH | 15 15 0,2 10,8 0,1 99,1
UTOro: 368,7
4 xakao Kakao 3 3 12,1 0,3 0,5 7.4
C MOJIOKOM MOOKO 100 100 3,3 3,7 52 58,5 200
cax.necok 15 15 14,9 58
UTOro: 123,9
NTOrIO: 761,67
2. YXUH
1.PskeHKa psKeHKa 200 200 5,86 3 22,54 140 200
2.KoH. M3na. rnevyeHoe 30 30 1,8 2,9 18,6/ 104,2 30
NTOIO: 244 2
KANOPUMHOCTb CYTOYHOIO PALIMOHA NMNTAHY  3663,27
3 oeHb
3aBTpak
1.TBOPOXHMK TBOpOr 140 7,2 1,6 4] 2112
co cn. Crvponom MaHKa 15 15 0,03 8,05 38,7
cax.necok 25 25 22,5 79,5
cMeTaHa 10 10 0,2 1,5 0,24 15,6 200
M.CIUBOYH | 5 5 0,06 3,6 0,04| 33,05
anua 25 25 4.8 3,4 0,12| 23,55
cax.necok 20 20 19,9 75,8
UTOrO: 477,4
2.Xneb c Xxne6 nweH 100 100 7,6 0,9 49,7 187,2
Macriom M. CNUBOYH 15 15 0,2 10,8 0,1 99,11100/15
UTOro: 286,3
3.kakao Kakao 3 3 12,1 0,3 0,5 7.4
C MOJIOKOM MOJOKO 100 100 3,3 3,7 52 58,5 200
cax.necok 15 15 14,9 58
123,9
NTOIO: 887,6
obep,
1.Canar cBekna 120 100 1,3 8,2 36,9
CBEKOJIbH. nyK 15 12 0,1 0,91 4,1
conb 2 2 100
M.pacTuT. 5 5 5 449

NTOrO:

85,9




2.Cyn kapTtod.
Ha K/6-He KapTodeny 200 160 3,7 5,4 29,3|] 120,1
roBsgnHa 35 26,2 7,42 551 79,19
nyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6
CB.3€NeHb 10 10 0,03 0,24 1,1 300
COMNb 2 2
M.CITMBOYH. 2 2 0,02 2,08 0,07| 18,51
M.pacTut 2 2 1,99 17,98
npunpaea 1 1| 0,009 0,005 0,146 0,67
UTOrO: 326,15
3.l'opoxoB. CB.pbiba 220 108 25,8 1,4 115,2
nope c | nyK 30| 25,2 0,2 1,6 7.4
3an. Pbibon M.CITMBOYH. 2 2 0,02 2,08 0,07| 18,51|182/78
M.pacTuT. 2 2 1,99 17,98
MOPKOBb 20 16 0,1 0,01 0,99 4.6
CONb 2 2
ropox 50 50 6,9 0,6 13,9 89,5
npunpasa 1 1| 0,009 0,005 0,146 0,67
MyKa 5 5
UTOro: 326,26
4.xneb pxaH, p>xaH 100 100 8,2 1,5 48,1 247,2
NWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
WTOrO: 355,2
5.Yan cn. yan 3 3 0,1 0,02 15
MOJTIOYHbIN cax. Necok 15 15 17,8 65,7 200
MOJIOKO 100 100 2,8 3,2 4,7 58
UTOro: 125,2
NTOrIO: 1218,7
MongHuk
1.CoK dOpyKT. Cok 200 200 1 4,74 112 200
2.DpyKThl A6110KK 300 300 3,75 52,5 98 300
UTOro: 98
3.Muuya MyKa 35 35 4,24 0,4 27,5 133,6
caxap 5 5 5 18,9
anua 10 10 1,1 1,4 13,7
OPOXKN 3 3 0,2 0,04 1,1 85
Cconb 1 1
M.CINUBOYH | 6 6 0,06 3,6 0,04 33,5
M.pacTuT. 2 2 1,9 17,9
MOJIOKO 10 10 0,5 0,6 0,9 11,6
cbIp 12 12 3,2 3,2 43,2
konbaca 25 25 12,2 0,5 2449
WTOrO: 517,9
NTOIO: 728
1 YKuH
1.Canart nyk 50 42 4,14 4,91 8,1
NYKOBbIN pact.macn( 5 4,99 44,95 48




CoJlb 1 UTOrO: 53
2.KapTt. ntope MSICO rOB. 75| 57,5 19,5 12,8 184,9
C rynsiLiom KapTod 300 216 4,05 7,45 47,9 198
NyK 20| 12,6 0,25 0,48 5,19
MOPKOBb 20 12 0,39 1,27 8,24 285
crn.macno 4 4 3,49 23,48
pacT.macnq 3 3 5,96 45,92
COMNb 1
MOJIOKO 10 10 0,5 0,6 0,9 11,6
MyKa 5 5
NTOrO: 469,09
3.Xneb ¢ macnom Xn.nweH 100 100 7,6 0,9 49,71 187,2
XI.pXKaH 50 50 8,2 15 48,1 82,4
M.CITMBOYH. 15 15 0,2 10,8 0,1 99,1
UTOrO: 368,7
4.Komnot cyxodp. 20 20 0,7 8,2 39,3
n3.cyxodp. caxap 15 15 15,3 60,5 200
WTOrO: 99,8
NUTOIO: 990,59
2. Y)KUH
1.PskeHka pshKeHKa 200 200 5,86 3 22,54 140 200
140
2.KoH. M3a. nevyeHbe 30 30 1,8 2.9 18,6f 104,2 30
NTOlO: 2442
KANOPUMHOCTbL CYTOYHOIO PALIMOHA NMUTAHUA COCTABJIAET: 4,069,09
4 peHb
3aBTpak
1.Kawa repkynec 35 35 4,4 0,3 27,5 1425
MOJI0YHast MOJIOKO 100 100 2,8 3,2 4,7 58 200
repkynec. M.CJTMBOYH, 5 5 0,06 3,6 0,04| 33,05
cax.necok 8 8 11,2 31,8
Cconb 1 1
WTOrO: 265,35
2.6yTepbpos xneb nieH 100 100 7,6 0,9 49,7 187,2
M. CIIMBOYH 15 15 0,2 10,8 0,1 99,1]|100/15
cbIp | 12 12 3,2 3,2 43,2 12/
konb. Bape 25 25 12,2 0,5 2449 25
UTOro: 574,4
3.KodhenHbin Kodpe 4 4 0,6 0,7 4,7
HanuUToK MOJIOKO 100 100 2,8 3,2 4,7 58 200
cax.necok 15 15 14,9 58
UTOro: 120,7
NTOIO: 960,4




Ob6ep
1.Canar MOPKOBb 120 92 1,2 0,09 6,5 30,3
MOPKOBHbIW M.pacTuT. 5 5 5 449
caxap 5 5 5 18,9
CONb 1 1
UTOrO: 94,1
2.Cync M.roBsig. 35| 26,2 7,42] 5,51 79,19
Krieukamm KapTogeny 120] 100,8 3,7 5,4 29,3 120,1
CO CMeT. nyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6
M.CITMBOYH 3 2 0,02 2,08 0,07| 18,51 300
M.pacTuT. 2 2 1,99 17,98
CONnb 2 2
CMeTaHa 5 5 0,2 2 0,3 20,6
MyKa 20 20 2,06 0,5 65,4
anua 10 10 1,1 1,4 13,7
CB.3€eMNeHb 10 10 0,03 0,24 11,1
npunpasa 1 1| 0,009 0,005 0,146 0,67
WTOrO: 346,75
3.Tyw Kapt KapTodeny 300 216 5,02 2,72 34,18 150
C MSACOM roBsgmHa 75| 56,25 14,8| 11,02 0,3] 158,3
NyK 20| 16,8 0,1 1,09 4,91239/47
MOPKOBb 20 16 0,1 0,01 0,99 4.6
M.CITUBOYH. 4 4 0,04 2,1 0,02 19,8
M.pacTuT. 2 2 1,9 17,9
CONb 1 1
npunpasa 1 1| 0,009 0,005 0,146 0,67
CB.3€J1E€Hb 10 10 0,03 0,24 1,1
WTOrO: 357,3
4.xneb pxaH, p>xaH 100 100 8,2 1,5 48,1 247,2
NWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
WTOrO: 355,2
5.kakao Kakao 3 3 12,1 0,3 0,5 7,4
C MOJIOKOM MOJI0KO 100 100 3,3 3,7 5,2 58,5 200
cax.necok 15 15 14,9 58
UTOro: 123,9
NTOrIO: 1277,3
MongHuk
1.Cok hpykT. Cok 200 200 1 4,74 112 200
2.dpykThl | A610KM 300 300 3,75 52,5 98 300
3.MnMpoxKM MyKa 35 35 4,24 0,4 27,5 133,6
MOPKOBHbIE caxap 5 5 5 18,9
anua 6 6 1,1 1,4 13,7
OPOXOKN 3 3 0,2 0,04 1,1 75
COJib 1 1
M.CITUBOYH. 6 6 0,06 3,6 0,04 33,5
M.pacTuT. 2 2 1,9 17,9
MOJOKO 10 10 0,5 0,6 0,9 11,6
MOPKOBb 90| 80,4 0,2 0,02 1,97 9,8




WTOrO: 241
NTOIO: 451
1. YKUH
1.Canart nyK 50 42 4,14 4,91 8,1
NYKOBbIV pacT.macng 5 4,99 44,95 48
COofb 1 UTOro: 53
2. OTB.pUC puc 40 401 13,02 9,8 158,3
C OTBapHOW M.NTULbI 100 47 11,4 51 0,3 89,5
Kypuuen COJb 2 2
nyK 20| 16,8 0,1 1,09 4,91200/47
MOPKOBb 20 16 0,1 0,01 0,99 4,6
M.CIMBOYH 4 4 0,02 2,08 0,07 18,51
M.pacTut 2 2 3 26,9
CB.3€eMNeHb 10 10 0,03 0,24 1,1
UTOro: 303,8
3.Xneb ¢ macrnom Xn.nweH 100 100 7,6 0,9 49,71 187,2
XI1.pXKaH 50 50 8,2 15 48,1 82,41100/15
M.CINUBOYH | 15 15 0,2 10,8 0,1 99,1
WTOrO: 368,7
4 Komnot cyxodp. 20 20 0,7 8,2 39,3
n3.cyxodop. caxap 15 15 15,3 60,5 200
WTOrO: 99,8
NTOrIO: 825,3
2. YXUH
1.PskeHka psKeHKa 200 200 5,86 3 22,54 140 200
2.koH. U3n. nevyeHbe 30 30 1,8 2,9 18,6 104,2 30
NTOrIO: 2442
KANOPUMHOCTb CYTOYHOIO PALIMOHA NMUTAHUA COCTABJ1] 3758,2
5 [leHb
3aBTpak
1.Kawa MaHKa 35 35 4,19 0,3 22,92 117,2
MOJI0YHas MOJI0KO 100 100 2,8 3,2 47 58 200
MaHHas M.CINUBOYH | 5 5 0,06 3,6 0,04| 33,05
cax.necok 7 7 11,2 31,8
cosb 1 1
WTOrO: 240,05
2.6yTepbpon xneb niieH 100 100 7,6 0,9 49,7 187,2
M. CJIMBOYH 15 15 0,2 10,8 0,1 99,1]100/15




ChbIp | 12 12 3,2 3,2 43,2 12/
kon6. Bape 25 25 12,2 0,5 2449 25
UTOrO: 574,4
3.Yan cn. yan 3 3 0,1 0,02 15
MOJOYHbIN cax. [lecok 15 15 17,8 65,7 200
MOJI0KO 100 100 2,8 3,2 4.7 58
UTOrO: 125,2
NUTOIO: 941,5
O6ep
1.Canart KapTogeny 120| 86,4 1,6 2,98 19,17 79,32
MoneBow nyK 15 12 0,1 0,91 4,1 100
M.pacTuT. 5 5 5 449
CONnb 1 1
UTOrO: 128,32
2.1Lln Ha k/© roBsiamMHa 35| 26,2 7,42 5,51 79,19
CO CMETaH. nyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6
KanycTta 120 100 1,1 0,06 3 17,3
KapTodeny 140 126 3,7 54 29,3 120,1 300
COJib 1 1
CMeTaHa 10 10 0,2 2 0,3 20,6
M.CINNBOYH | 3 3 0,02 2,08 0,07 18,51
M.pacTuT. 2 2 1,99 17,98
CB.3€eMNeHb 10 10 0,03 0,24 1,1
npunpasa 1 1| 0,009 0,005 0,146 0,67
WTOrO: 284,95
3.MNepnoBas neprioBka 40 40 4.8 0,5 12,7 68,8
Kawa c CB.pblGa 220 108 11,4 51 0,3 89,5
3an pbibon conb 2 2
nyK 20| 16,8 0,1 1,09 49
MOPKOBb 20 16 0,1 0,01 0,99 4,6/188/113
MyKa nLeH 5 5 0,4 0,04 2,71 13,08
M.CITUBOYH. 5 5 0,06 3,6 0,04] 33,05
M.pacTuT. 3 3 1,98 17,98
CB.3€JE€Hb 10 10 0,03 0,24 1,1
npunpasa 1 1| 0,009 0,005 0,146 0,67
UTOro: 233,6
4.xneb pxaH, p>xaH 100 100 8,2 1,5 48,1 247,2
NWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
WTOrO: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 ¢/ Cax.necok 15 15 15,3 60,5 200
UTOro: 99,8
NTOIO: 1101,8
MongHuk
1.Cok hpykT. Cok 200 200 1 4,74 112 200
2.DpyKThI A6110KK 300 300 3,75 52,5 98 300




I
3. TBOPOXHUK TBOpOr 190 190 7,2 1,6 4] 211,2
co cn. Crponom MaHkKa 10 10 0,03 8,05 38,7
cax.necok 25 25 22,5 79,5
cMeTaHa 15 15 0,2 15 0,24 15,6 240
M.CINNBOYH | 6 6 0,06 3,6 0,04| 33,05
anua 25 25 4.8 3.4 0,12] 23,55
cax.necok 20 20 19,9 75,8
UTOro: 477,4
NTOIO: 687,4
1. YKuH
1.Canart nyK 50 42 4,14 4,91 8,1
NYKOBbIV pacT.macng 5 4,99 44,95 48
COoflb 1 UTOro: 53
2.Kaptod. KapTodeny 300 216 4,05 7,45 47,9 198
3anek. ¢ MACoOM nyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6
MOJIOKO 10 10 0,6 0,7 0,9 12,61269/47
CcOofb 2 2
M.CINNBOYH | 5 5 0,06 3,6 0,04| 33,05
M.pacTuT. 3 3 3 26,9
roBsaanHa 75 52,5 14,8| 11,02 158,3
anua 10 10 1,1 1,4 13,7
WTOrO: 453,82
3.Xneb6 c xneb nuweH 100 100 7,6 0,9 49,7 187,2
Macnom M.CIUBOYH | 15 15 0,2 10,8 0,1 82,4|100/15
XI.pXKaH 50 50 8,2 15 48,1 247,2
UTOro: 368,7
4 xakao Kakao 3 3 12,1 0,3 0,5 7,4
C MOJIOKOM MOJTIOKO 100 100 3,3 3,7 5,2 58,5 200
cax.necok 15 15 14,9 58
UTOro: 123,9
NTOIO: 994,4
2. YXUH
1.PshkeHka psXeHka 200 200 5,86 3 22,54 140 200
2.KoH. M3a. ne4vyeHbe 30 30 1,8 2,9 18,6 104,2 30
NTOIO: 244 2
KANOPUMHOCTb CYTOYHOIO PALUMOHA MUTAHUA COCTABN| 3969,3
6 oeHb
3aBTpak




1.AnYHbIN MOJIOKO 100 100 2,8 3,2 4.7 58
omMnet anua 80 80 10,1 9,2 0,5 125,6 186
COJlb 1
M.CIMB 5 5 0,06 3,6 0,04] 33,05
UTOrO: 216,65
2.6yTepbpos xneb niieH 100 100 7,6 0,9 49,7 187,2
M. CNIMBOYH 15 15 0,2 10,8 0,1 99,1]100/15
CbIp | 12 12 3,2 3,2 43,2 12/
kon6. Bape 25 25 12,2 0,5 2449 25
UTOrO: 574,14
3.KopenH. Kodgpe 4 4 0,6 0,1 4,7
HanMToK MOJIOKO 100 100 2,8 3,2 4,7 58 200
Ccax.necok 15 15 14,9 58
UTOro: 120,7
NTOIO: 911,5
06en
1.Canart MOPKOBb 120 92 1,2 0,09 6,5 30,3
MOPKOBHbIVi M.pacTuT. 5 5 5 44,9
caxap 5 5 5 18,9|n
COnNnb 1 1
UTOro: 94,1
2.Cyn KpecT. roesavHa 35| 26,2 7,42 5,51 79,19
Ha K/0-He Kanycra 100 82 0,5 0,03 1,5 8,6
KapTodeny 120 83 1,6 0,3 13,5| 68,06
neprioBka 10 10 0,9 0,1 6,7 32,4 300
nyk 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4.6
M.CITMBOYH) 3 3 0,02 2,08 0,07| 18,51
COnb 1 1
npunpasa 1 1l 0,009 0,005 0,146 0,67
CB.3€eMNeHb 10 10 0,03 0,24 1,1
M.pacTut 2 2 1,99 17,98
UTOro: 236,01
3.KapTtod. KapTogeny 300 216 4,05 7,45 47,9 198
niope ¢ nyK 20 16,8 0,1 1,09 4,9
rynswom MOPKOBb 20 16 0,1/ 0,01 0,99 4,6
MOJIOKO 20 20 0,6 0,7 0,9 12,61269/47
COJb 2 2
M.CITMBOYH, 5 5 0,06 3,6 0,04] 33,05
M.pacTuT. 3 3 3 26,9
roBsanHa 75| 56,25 14,8] 11,02 158,3
CB.3€MNeHb 10 10 0,03 0,24 1,1
npunpasa 1 1| 0,009 0,005 0,146 0,67
MyKa 3 3 0,3 0,03 2,06] 10,02
UTOro: 450,14
4.xneb pxaH, pXaH 100 100 8,2 15 48,1 247,2
MWEeHNYHbIN neH 50 50 3,8 0,5 24,8 108




UTOrO: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 c/d Ccax.necok 15 15 15,3 60,5 200
UTOro: 99,8
NTOIO: | 1235,3
MongHuk
1.CoK OpyKT. Cok 200 200 1 4,74 112 200
2.OpyKThI A610KN 300 300 3,75 52,5 98 300
3.MUPOXKKM Kanycra 80| 704 0,2 0,02 1,97 9,8
C KanycTon MyKa niieH 35 35 4,24 0,4 27,5 130,8
Ccax.necok 5 11,2 31,8
OPOXOKM 3 3 0,2[ 0,04 1,1 70
M.pacTuT. 2 2 1,9 17,9
M.CINNBOYH | 6 6 0,06 3,6 0,04| 33,05
MOJIOKO 10 10 0,5 0,6 0,9 11,6
anua 6 6 1,1 1.4 13,7
CoJlb 1 1
UTOrO: 249,75
NTOIO: 459,7
YXKUH
1.BuHerper CcBeKna 30 16 0,2 1,4 6,5
nyK 15 13 0,1 1,1 53
Kanycra 20 18 0,3 0,01 0,8 4,6
M.pacTuT. 5 5 5 449 100
KapTodeny 40 35 0,7 0,1 5,7 28,7
COnb 1 1
MOPKOBb 15 12 0,11 0,001 0,8 21,1
UTOro: 92,4
2.0718B. rpeyka rpeyka 40 40 4,7 0,2 1,06 64,1
C OTB. KypuL, M.OTULbI 100 47 11,4 51 0,3 89,5
CoJlb 2 2
nyk 20| 16,8 0,1 1,09 4,9(200/47
MOPKOBb 20 16 0,1 0,01 0,99 4.6
M.CIMBOYH 4 2 0,02 2,08 0,07| 18,51
M.pacTuT 5 3 3 26,9
CB.3€eJ1eHb 10 10 0,03 0,24 1,1
UTOro: 209,61
3.Xneb ¢ macnom XN.NweH 100 100 7,6 0,9 49,7 187,2
XIN.pXKaH 50 50 8,2 1,5 48,1 82,4
M.CITUBOYH, 15 15 0,2 10,8 0,1 99,1
UTOro: 368,7
4 Yan cn. yan 3 3 0,1 0,02 1,5
MOJOYHbIN cax. [lecok 15 15 17,8 65,7 200
MOMOKO | 100[ 100 2,8 3,2 4,7 58




UTOrO.

125,2

NUTOlO: 795,9
2. YKUH
1.PspkeHka psKeHKa 200 200 5,86 3 22,54 140 200
2.KoH. M3na. neYyeHbe 30 30 1,8 2,9 18,6f 104,2 30
NTOIO: 2442
KANOPUMHOCTb CYTOYHOIO PALIMOHA MUTAHNA COCTAB| 3646,6
7 OeHb
3aBTpak
1.Kawa repkynec 35 35 4.2 1,7 51,3] 102,02
MOJ1. repKkynec. M.CITMBOYH, 5 5 0,06 3,6 0,04] 33,05
MOJIOKO 100 100 2,8 3,2 4,9 58 200
cax.necok 7 7 11,2 31,8
CONb 1 1
UTOro: 224,87
2.bytepbpos Xneb nweH 100 100 7,6 0,9 49,71 187,2
M. CITUBOYH 15 15 0,2 10,8 0,1 99,11100/15
cbip | 12 12 3,2 3,2 43,212 25
konbaca B4 25 25 12,2 0,5 2449
UTOrO 574,4
3.KogeniH. Kocpe 4 4 0,6 0,1 4,7
HanuToK MOJI0KO 100 100 2,8 3,2 4,7 58 200
cax.necok 15 15 14,9 58
UTOro: 120,7
4. OTB. AnUo ANLO 40 40 5,05 4.6 0,25 62,8 40
WTOrO: 62,8
NTOIO: 982,7
Ob6ep
1.Canar KapTodeny 68 50 1,6 2,98 19,17 79,32
KapT.C 3en.rop. nyK 6 4 0,1 0,91 4,1 115
1 Map.orypuamm M.pacTuT. 5 5 5 449
COJ1b 1 1
ropoLuek 26 26
Map.orypuy 30 30
UTOro: 128,32
2.Cync M.roBsg. 35| 26,2 7,42 5,51 79,19
KneLkamm KapTogeny 120| 100,8 3,7 54 29,3] 120,1
CO CMeT. nyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4.6
M.CITIMBOYH 3 2 0,02 2,08 0,07 18,51 300
M.pacTuT. 3 2 1,99 17,98
Cconb 2 2
cMeTaHa 5 5 0,2 2 0,3 20,6
MyKa 25 25 2,06 0,5 65,4
anua 10 10 1,1 1,4 13,7




CB.3€NeHb 10 10 0,03 0,24 11,1
npunpasa 1 1l 0,009 0,005 0,146 0,67
UTOrO: 346,75
3.KanycTta CB.pblba 220 108 25,8 1,4 115,2
TylieHas Kanycrta 200 170 2 0,11 5,3 30,7
c 3an. Pbibon MOPKOBb 20 16 0,1 0,01 0,99 4,6
nyK 20| 16,8 0,1 1,09 4,9
M.CJTUBOYH., 4 4 0,04 2,1 0,02 19,8|190/47
M.pacTuT. 3 3 3 26,9
MyKa 3 3 0,12 0,01 0,8 4
CONnb 1 1
npunpasa 1 1| 0,009 0,005 0,146 0,67
UTOrO: 431,77
4.xneb pxaH, p>xaH 100 100 8,2 1,5 48,1 247,2
NWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
WTOrO: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 ¢/ Cax.necok 15 15 15,3 60,5 200
UTOrO: 99,8
NUTOIO: 1006,6
MongHuk
1.Cok hpykT. Cok 200 200 1 4,74 112 200
2.DpyKThI A6110KK 300 300 3,75 52,5 98 300
3.TBOPOXHUK TBOpOr 190 190 7,2 1,6 41 211,2
MaHKa 15 15 0,03 8,05 38,7
cax.necok 20 20 22,5 79,5
CcMeTaHa 10 10 0,2 1,5 0,24 15,6 240
M.CINUBOYH | 6 6 0,06 3,6 0,04| 33,05
anua 25 25 4.8 3,4 0,12| 23,55
UTOrO: 477,4
NTOlO: 687,4
1. YKuH
1.Canar nyK 50 42 4,14 491 8,1
NYKOBbIV pact.macnd 5 4,99 44,95 48
CoIb 1 WTOrO: 53
2. 'opoxoB. roesguHa 75| 52,5 14,8 11,02 158,3
niope ¢ nyK 30| 25,2 0,2 1,6 7,4
KOTNEeTOn xneb nueH 13 13 0,9 0,1 6,4 29,3|182/78
ropox | 50 50 6,9 0,6 139] 895
M.CITUBOYH. 4 4 0,02 2,08 0,07 18,51
M.pacTuT. 2 2 1,99 17,98
MOPKOBb 20 16 0,1 0,01 0,99 4,6
CONb 2 2




UTOro: 326,26
3.Xneb ¢ macnom Xn.nweH 87 87 7,6 0,9 49,71 187,2
XI.pXKaH 50 50 8,2 15 48,1 82,4
M.CINNBOYH | 15 15 0,2 10,8 0,1 99,1
UTOro: 368,7
4 Man cn. yan 4 4 0,1 0,02 15
MOJIOYHbIN cax. [Mecok 15 15 17,8 65,7 200
MOJIOKO 100 100 2,8 3,2 4,7 58
UTOro: 125,2
NTOIO: 873,2
2. YXUH
1.PsxeHka psXeHKa 200 200 5,86 3 22,54 140 200
2.KoH. M3a. nevyeHbe 30 30 1,8 2.9 18,6f 104,2 30
NTOIO: 244 2
KANOPUMHOCTb CYTOYHOIO PALUMOHA MNTAHUA COCTABN| 37941
8 eHb
3aBTpak
1.Kawa mon puc 35 35 2,1 0,15 12,7] 103,55
pucoBas MOJIOKO 100 100 2,8 3,2 4,9 58
M.CIMBOYH 5 5 0,06 3,6 0,04| 33,05 200
cax.necok 7 7 11,2 31,8
COJlb 1 1
UTOro: 226,4
2.bytepbpoa Xneb nwen 100 100 7,6 0,9 49,7 187,2
M. CJIMBOYH 15 15 0,2 10,8 0,1 99,1]100/15
cbIp | 12 12 3,2 3,2 43,2112./25
konbaca B3 25 25 12,2 0,5 2449
UTOrO : 574,4
3.KodpelHbin Kodpe 3 3 0,6 0,7 4,7
HanuToK MOJOKO 100 100 2,8 3,2 47 58 200
cax.necok 15 15 14,9 58
WTOrO: 183,4
NTOrIO: 984,2
O6ep,
1. oTBapHas cBekrna 120 100 0,84 2,73 13,65
CcBekKna WTOrO: 13,65
2.Cyn rop. ropox 30 30 3,7 0,2 10,7 58,5
Ha K/6-He cMeTaHa 10 10 0,2 2 0,3 20,6
CO CMETaH. roBsgnHa 35 26,2 7,42 551 79,19




NYyK 20 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6
KapTogeny 120| 100,8 3,7 5,4 29,3] 120,1 300
Ccorb | 2 2
M.CITMBOYH) 3 3 0,02 2,08 0,07| 18,51
M.pacTut 2 2 1,99 17,98
npunpasa 1 1| 0,009 0,005 0,146 0,67
CB.3€MNeHb 10 10 0,03 0,24 1,1
UTOrO: 326,15
3.TylweHbIn M.MTULbI 100 47 11,4 5,1 0,3 89,5
KapTodenb KapTodeny 300 216 5,02 2,72 34,18 150
C OTB.KYp. MOPKOBb 20 16 0,1 0,01 0,99 4,6
nyK 20| 16,8 0,1 1,09 4,9
M.CITMBOYH) 4 4 0,04 2,1 0,02 19,81239/47
M.pacTuT. 3 3 3 26,9
CoJlb 1 1
npunpasa 1 1l 0,009 0,005 0,146 0,67
UTOro: 296,37
4.xneb pxaH, pXaH 100 100 8,2 15 48,1 247,2
MWEeHWYHbIN nweH 50 50 3,8 0,5 24,8 108
UTOro: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
13 c/d Ccax.necok 15 15 15,3 60,5 200
UTOro: 99,8
NTOIO: 1091,2
MongHuk
1.CoK dOpyKT. Cok 200 200 1 4,74 112 200
2.PpyKThl AGNIOKM 300 300 3,75 52,5 98 300
UTOro: 98
MyKa 50 50 6,3 0,7 41,2 200,4
3.BnnH4YmKK MOJIOKO 70 70 2,2 2,5 3,7 46,4
OPOXKN 3 3 0,3 0,08
cax.necok 5 5 5 20]150/20
M.CINUBOYH | 6 6 0,06 3,6 0,04| 33,05
M.pacTuT. 10 10 10 89,9
COnb 1 1
anua 10 10 11,2 2,3 0,1 15,7
UTOro: 389,75
NTOIO: 599,7
1. YXuH
1.Canat MOPKOBb 120 92 1,2 0,09 6,5 30,3
MOPKOBHbIW M.pacTuT. 5 5 5 449
caxap 5 5 5 18,9
Colb 1 1
UTOro: 94,1




2 OBoulHoe MSCO 75| 56,25 14,8 11,02 158,3
pary c OTB. roBsgvHa
MSICOM Kanycrta 120 100 1,08 0,06 2,8 16,2
KapTogeny 120 86,4 16,2 2,98 19,17| 79,32 170
nyK 301 25,2 0,2 1,6 7,4
MOPKOBb 40 32 0,3 0,03 2,06 9,5
M. CNUB. 5 5 0,06 3,6 0,04| 33,05
M. pacTuT. 2 2 1,9 17,9
COJlb 2 2
CB. 3€J1EHb 10 10 0,05 0,26 1,3
UTOro: 322,97
3.Xneb c macnom Xn.nweH 100 100 7,6 0,9 49,7 187,2
XI.pXKaH 50 50 8,2 15 48,1 82,4
M.CINNBOYH | 15 15 0,2 10,8 0,1 99,1
UTOro: 368,7
4 .Kakao ¢ Kakao 3 3 12,1 0,3 0,5 7,4
MOJTOKOM MOJIOKO 100 100 3,3 3,7 5,2 58,5 200
cax.necok 15 15 14,9 58
UTOro: 123,9
NTOIO: 909,67
2. YXUH
1.PsxeHka psXeHKa 200 200 5,86 3 22,54 140 200
2.KoH. M3a. nevyeHbe 30 30 1,8 2.9 18,6f 104,2 30
NTOIO: 2442
KANOPUMHOCTb CYTOYHOIO PALUMOHA NMUTAHUA COCTABN| 3828,9
9 leHb
3aBTpak
1.Cyn mon. BepmuLlen 25 25 2,08 0,2 13,6 67,4
BEpPMULLIESTb. MOJIOKO 150 150 4,5 5,1 6,87 82,5 200
cax.necok 8 8 11,2 31,8
M.CIUBOYH | 5 5 0,06 3,6 0,04| 33,05
COJlb 1 1
UTOro: 214,75
2.Xneb c Xneb nweH 100 100 7,6 0,9 49,7\ 187,2
Macnom M. CNUBOYH 15 15 0,2 10,8 0,1 99,11100/15
UTOro: 286,3
3.Yanm cn. yamn 3 3 0,1 0,02 1,5
MOJOYHbIN cax. [Mecok 15 15 17,8 65,7 200
MOJIOKO 100 100 2,8 3,2 4,7 58
UTOrO: 125,2
NTOrIO: 608,3




O6en

1. Canat Kanycrta 120 100 1,1] 0,06 3 17,3
M3 CB.Kanycrbl MOPKOBb 15 12 0,1] 0,001 0,8 21,1
NyK 15 13 0,1 1,1 5,3 100
caxap 5 5 5 18,9
Macro pac 5 5 5 449
CONnb 1 1
UTOro 107,5
2.Cyn ¢ gom MyKa 25 25 2,06 0,2 13,6 65,4
nanLuon Ha anua 6 6 0,6 0,5 0,03 7,8
K/6-He Connb 1 1
KapTodeny 120] 100,8 3,7 54 29,3 120,1
roBsgnHa 35 26,2 7,42 551 79,19 300
nyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6
M.CIMBOYH 3 2 0,04 2,1 0,02 19,8
M.pacTuT. 2 2 1,9 17,9
npunpasa 1 1| 0,009 0,005 0,146 0,67
CB. 3€J1EHD)| 10 10 0,03 0,24 1,1
UTOrO: 321,46
3.MepnoBas neprioBka 50 50 4.8 0,5 12,7 68,8
kawac | CB. pbiba 220 108 25,4 1,4 115,2
3an. Puibon CoIb 2 2
NyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,61188/113
M.CITUBOYH. 5 5 0,06 3,6 0,04] 33,05
M.pacTuT. 2 2 1,98 17,98
CB.3€J1E€Hb 10 10 0,03 0,24 1,1
npunpasa 1 1| 0,009 0,005 0,146 0,67
UTOro: 259,38
4.xneb pxaH, pXaH 100 100 8,2 1,5 48,1 2472
MWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
UTOro: 355,2
5.Kakao c Kakao 2 2 12,1 0,3 0,5 7,4
MOJIOKOM MOJIOKO 100 100 3,3 3,7 5,2 58,5 200
cax.necok 15 15 14,9 58
WTOrO: 123,9
NTOlO: 1167,4
MongHuk
1.CoK pyKT. Cok 200 200 1 4,74 112 200
2.DpyKThl AGIOKM 300 300 3,75 52,5 98 300
3.Munuya MyKa 35 35 4,24 0,4 27,5 133,6
caxap 5 5 5 18,9
anua 6 6 1,1 1,4 14,7
OPOXOKM 1,5 1,5 0,2 0,04 1,1
Cconb 1 1 70
CIB.Macrn 5 5 0,06 3,6 0,04 33,5




pacTt.macnq 2 2 19 17,9
MOJOKO 10 10 0,5 0,6 0,9 11,6
CbIp 12 12 3,2 3,2 43,2
konbaca B4 25 25 12,2 0,5 2449
Ntoro 517,9
NTOIO: 727,9
1. YXuu
1.Canat nykoBbIN anua 40 5,08|4 6 0.28 162.8
OTB.ANLO NyK 15| ####4(0.14 0.91 414 55
pacT.macnq 5 44.95
COMNb 1
WTOrO: 166,9
2.puc oTB. M.OBSAMHH 75| 56,25 14,8 11,02 158,3
C OTBapHbIM puc 50 50 5,02 2,72 34,18 150
MSICOM MOPKOBb 20 16 0,1/ 0,01 0,99 4,6
NyK 20| 16,8 0,1 1,09 4,9
M.CINNBOYH | 3 3 0,04 2,1 0,02 19,8 280
M.pacTuT. 3 3 3 26,9
COJib 1 1
WTOrO: 365,17
3.Xneb ¢ macnom Xn.MAWeH 100 100 7,6 0,9 49,7 187,2
XIN.pXKaH 50 50 8,2 15 48,1 82,4
M.CINNBOYH | 15 15 0,2 10,8 0,1 99,1
UTOro: 368,7
4.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 ¢/ Cax.necok 15 15 15,3 60,5 200
UTOro: 99,8
NTOIO: 1000,6
2. Y)KUH
1.PsxeHka psXeHkKa 200 200 5,86 3 22,54 140 200
2.KoH. M3a. neYvyeHbe 30 30 1,8 2.9 18,6 104,2 30
NTOrlO: 2442
KANOPUMHOCTb CYTOYHOIO PALUMOHA MUTAHNA COCTABN| 37484
10.0eHb
3aBTpak
1.AnYyHbIN MOJTOKO 100 100 2,8 3,2 4,7 58
omMmnet anua 80 80 10,1 9,2 0,51 125,6 186
COJib 1
M.CNnnB 5 5 0,06 3,6 0,04| 33,05
WTOrO: 216,65
2.bytepbpog Xneb6 nwen 100 100 7,6 0,9 49,7 187,2




M. CITMBOYH 15 15 0,2 10,8 0,1 99,1]100/15
CbIp | 12 12 3,2 3,2 43,2|12 25
konbaca Bg 25 25 12,2 0,5 2449
UTOrIO : 574,14
3.Kodb Kodpe 3 3 0,6 0,1 4,7
HanuTOoK MOJI0KO 100 100 2,8 3,2 4.7 58 200
cax.necok 15 15 14,9 58
UTOrO: 120,7
NTOIO: 911,5
0O6ep,
1.Canar cBekna 120 100 1,3 8,2 36,9
CBEKOJIbH. NyK 15 12 0,1 0,91 4,1
COIb 2 2 100
M.pacTuT. 5 5 5 449
WTOrO: 85,9
2.Cyn kapTod. rosgAnHa 35| 26,2 7,42 5,51 79,19
Ha K/0 co kapTodeny 200| 100,8 3,7 5,4 29,3] 120,1
CMeTaHon nyK 20| 16,8 0,1 1,09 4,9
MOPKOBb 20| 16,8 0,1 1,09 4,6
M.CINNBOYH | 3 3 0,02 2,08 0,07 18,51 300
M.pacTuT. 2 2 1,99 17,98
COJib 1 1
CMeTaHa 10 10 0,2 2 0,3 20,6
CB.3€eMNeHb 10 10 0,03 0,24 1,1
npunpasa 1 1| 0,009 0,005 0,146 0,67
WTOrO: 267,65
3. Kawa nLeHo 50 50 4,7 0,2 1,06 64,1
nweHas M.OTULbI 100 47 11,4 51 0,3 89,5
C OTB.KYyp CoJlb 2 2
nyk 20| 16,8 0,1 1,09 4,91200/47
MOPKOBb 20 16 0,1 0,01 0,99 4.6
M.CITMBOYH 4 2 0,02 2,08 0,07 18,51
M.pacTuT 5 3 3 26,9
CB.3€JE€Hb 10 10 0,03 0,24 1,1
WTOrO: 209,61
4.xneb pxaH, p>xaH 100 100 8,2 1,5 48,1 247,2
NWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
WTOrO: 355,2
5.Komnot cyx/ppyk. 20 20 0,7 8,2 39,3
n3 c/c cax.necok 15 15 15,3 60,5 200
WTOrO: 99,8
NTOlO: 1018,2
MongHuk
1.CoK pyKT. Cok 200 200 1 4,74 112 200
2.DpyKThl AGIOKM 300 300 3,75 52,5 98 300




3.BatpyLuku MyKa nieH 35 35 4,24 0,4 27,5| 133,6
C TBOPOIrom cax. [lecok 10 10 5 18,9
M.CITMBOYH 5 5 0,06 3,6 0,04| 33,05
ANLO 15 15 1,1 1,4 0,1 13,7
COMNb 1 1 75
OPOXOKU 3 3 0,2 0,04 1,1
MOJI0KO 10 10 0,5 0,6 0,9 11,6
M.pacTut 2 2 1,9 17,9
TBOpOr 40 40 0,1 19,6 74,1
WTOrO: 303,95
NUTOIO: 513,9
1. YXuH
1.Canart KapTogeny 120| 86,4 1,6 2,98 19,17 79,32
Moneson nyK 15 12 0,1 0,91 4.1 100
M.pacTuT. 5 5 5 449
COJib 1 1
UTOrO: 128,32
2.NleHuBblE roBsagnHa 75 52,5 14,8| 11,02 158,3
ronyoupl puc 20 20 0,03 1,4 0,02 13,2
nyK 20 16,8 0,1 1,09 49
MOPKOBb 20 16 0,1 0,01 0,99 4,6
M.CIMBOYH 3 3 0,04 2,1 0,02 19,8 280
M.pacTut 2 2 1,9 17,9
COJib 1 1
Kanycra 200 180 3,2 0,18 8,4 48,6
npunpasa 1 1| 0,009 0,005 0,146 0,67
CB.3€J1E€Hb 5 5 0,03 0,24 1,1
WTOrO: 269,07
3.Xneb ¢ macnom Xn.MAWeH 100 100 7,6 0,9 49,7 187,2
XI.pXKaH 50 50 8,2 1,5 48,1 82,4
M.CITMBOYH. 15 15 0,2 10,8 0,1 99,1
UTOro: 368,7
4 Kakao ¢ Kakao 2 2 12,1 0,3 0,5 7,4
MOJI0KOM MOJI0KO 100 100 3,3 3,7 5,2 58,5 200
cax.necok 15 15 14,9 58
UTOro: 123,9
NTOIO: 889,9
2. YXuH
1.PshkeHka psXeHka 200 200 5,86 3 22,54 140 200
2.KoH. M3a. ne4vyeHbe 30 30 1,8 2,9 18,6 104,2 30
NTOIO: 2442
KANOPUMHOCTb CYTOYHOIO PALUMOHA MUTAHNA COCTABN| 3577,7




11 peHb
3aBTpak
1.Kawa mon. repkynec 35 35 4,7 2,3 26,5 16,1
repkynec. MOJIOKO 100 100 2,8 3,2 4,7 58
M.CITMBOYH, 5 5 0,06 3,6 0,04] 33,05 200
Cax.necok 8 8 11,2 31,8
CONnb 1 1
UTOrO: 138,9
2.bytepbpos Xneb6 nwen 100 100 7,6 0,9 49,7 187,2
M. CITMaouH 15 15 0,2 10,8 0,1 99,1]100/15
CbIp | 12 12 3,2 3,2 43,2|12 25
konbaca B4 25 25 12,2 0,5 2449
UTOrO : 574,4
3.Kakao c Kakao 2 2 12,1 0,3 0,5 7,4
MOJIOKOM MOJIOKO 100 100 3,3 3,7 5,2 58,5 200
Cax.necok 15 15 14,9 58
WTOrO: 123,9
NUTOIO: 837,2
O6ep,
1. oTBapHas cBekna 120 100 0,84 2,73] 13,65
CcBekna
WTOrO: 13,65
2.Cyn rop. ropox 30 30 3,7 0,2 10,7 58,5
Ha K/6-He cMeTaHa 10 10 0,2 2 0,3 20,6
CO CMETaH. roBsgnHa 35 26,2 7,42 551 79,19
nyK 20| 16,8 0,1 1,09 49
MOPKOBb 20 16 0,1 0,01 0,99 4,6
kapTodeny 120| 100,8 3,7 5,4 29,3 120,1 300
cornb | 1 1
M.CINUBOYH | 3 3 0,02 2,08 0,07 18,51
M.pacTut 2 2 1,99 17,98
npunpasa 1 1| 0,009 0,005 0,146 0,67
CB.3€JE€Hb 10 10 0,03 0,24 1,1
WTOrO: 326,15
3.TyweHbI M.roBsiAVHHY 75| 56,25 14,8| 11,02 158,3
KapTodenb KapTodeny 300 216 5,02 2,72 34,18 150
C MACOM MOPKOBb 20 16 0,1/ 0,01 0,99 4,6
nyk 20| 16,8 0,1 1,09 4,9
M.CIUBOYH | 4 4 0,04 2,1 0,02 19,8 280
M.pacTuT. 3 3 3 26,9
CONb 2 2
npunpasa 1 1| 0,009 0,005 0,146 0,67
WTOrO: 365,17
4.xneb pxaH, p>XaH 100 100 8,2 1,5 48,1 2472
NWEeHNYHbIN nweH 50 50 3,8 0,5 24,8 108
WTOrO: 355,2
5.4an cn. yan 3 3 0,1 0,02 15




MOJIOYHbLIN cax. lNecok 15 15 17,8 65,7 200
MOJIOKO 100 100 2,8 3,2 4,7 58
WTOrO: 125,2
NTOIO: 1185,4
MongHuk
1.CoK OpyKT. Cok 200 200 1 4,74 112 200
2.OpykThl A6110KM 300 300 3,75 52,5 98 300
3.bynouka MyKa 35 35 4,24 0,4 27,5| 133,6
LUKOJTbHas caxap 5 5 5 18,9
anua 6 6 1,1 1,4 13,7
OPOXOKM 1,5 1,5 0,2 0,04 1,1 75
CONnb 1 1
M.CJTUBOYH., 6 6 0,06 3,6 0,04 33,5
M.pacTuT. 2 2 1,9 17,9
MOJI0KO 10 10 0,5 0,6 0,9 11,6
WTOrO: 229,85
NTOrIO: 439,8
1. YXuH
1.Canart MOPKOBb 120 92 1,2 0,09 6,5 30,3
MOPKOBHbIVi M.pacTuT. 5 5 5 44,9
caxap 5 5 5 18,9
COJlb 1 1
UTOro: 94,1
2.0TBapH. MaK.n3gent 40 40 5,8 0,7 38,2| 186,4
MaKapOHbl M.CINMBOYH 3 3 0,04 2,1 0,02 19,8
C 3an.pblbon M.pacTut 3 3
conb 2 2 170/113
nyk 20| 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4.6
CB.pblba 220 113 25,4 1,4 115,2
UTOro: 371,55
3.Xneb ¢ macnom Xn.nweH 100 100 7,6 0,9 49,7 187,2
XI.pXKaH 50 50 8,2 15 48,1 82,4
M.CITUBOYH. 15 15 0,2 10,8 0,1 99,1
WTOrO: 368,7
4 Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 ¢/ Cax.necok 15 15 15,3 60,5 200
UTOro: 99,8
NTOIO: 934,2
2. YXuH
1.PskeHka psXeHka 200 200 5,86 3 22,54 140 200




2.KoH. M3na. neYyeHbe 30 30 1,8 2,9 18,6f 104,2 30
NUTOlO: 2442
KANOPUMHOCTb CYTOYHOIO PALIMOHA MUTAHNA COCTABN| 3640,8
12 peHb
3aBTpak
1.kawa MaHKa 35 35 4,19 0,3 22,92| 26.anp
MOJI04YHas MOJIOKO 100 100 2,8] aHB.00 4,7 58 200
MaHHasi caxap. I 8 8 11,2 31,8
COMNb 1 1
M. CITMBOYH 5 5 0,06 3,6 0,04] 33,05
UTOro 240,05
2.bytepbpos Xneb nwen 100 100 7,6 0,9 49,7 187,2
M. CITMaoYH 15 15 0,2 10,8 0,1 99,1]100/15
CbIp | 12 12 3,2 3,2 43,2|12 25
konbaca B4 25 25 12,2 0,5 2449
UTOrO : 574,4
3.Yan cn. yan 3 3 0,1 0,02 15
MOJTOYHbIN cax. [lecok 15 15 17,8 65,7 200
MOJI0KO 100 100 2,8 3,2 4.7 58
UTOro: 125,2
NUTOIO: 939,6
O6ep,
1. Canart KapTogeny 120 86,4 1,6 2,98 19,17 79,32
lMoneBow nyk 15 12 0,1 0,91 4,1 100
M.pacTuT 5 5 5 44,9
Cconb 1 1
NToro 128,32
2.CBeKonbH. Csekna 120 100 1,3 8,2 36,9
Ha k/6 co nyk 20| 16,8 0,1 1,09 4,9
cMeTaHoun MOPKOBb 20 16 0,1/ 0,01 0,99 4,6
KapTodeny 140|] 120,8 3,7 5,4 29,91 120,1
roBsguHa 35| 26,2 7,42 5,51 79,19 300
M.CITMBOYH 2 2 0,02 2,08 0,07] 18,51
M.pacTuT 2 2 1,99 17,98
Cconb 2 2
npunpaea 1 1| 0,009 0,005 0,146 0,67
CB.3€€EHb 5 5 0,03 0,24 1,1
cMeTaHa 10 10 0,2 2 0,3 20,6
UTOro: 304,55
3.01BapHoOm roesguHa 75| 52,5 14,8 11,02 158,3
puc c nyK 30| 25,2 0,2 1,6 7,4
KOTNEeTon xneo nueH 13 13 0,9 0,1 6,4 29,3|170/78
puc | 40 40 3,8 0,2 40,6] 13,2




M.CJTMBOYH, 2 2 0,02 2,08 0,07| 18,51
M.pacTuT. 2 2 1,99 17,98
MOPKOBb 20 16 0,1 0,01 0,99 4,6
CoJlb 2 2
npunpasa 1 1| 0,009 0,005 0,146 0,67
UTOro: 249,96
4.xneb pxaH, p>xaH 100 100 8,2 15 48,1 2472
NLWEHNYHbIN nweH 50 50 3,8 0,5 24,8 108
UTOro: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 c/d Ccax.necok 15 15 15,3 60,5 200
UTOro: 99,8
NTOIO: 1137,8
MonaHuk
1.CoK OpyKT. Cok 200 200 1 4,74 112 200
2. OpyKThI A610KN 300 300 3,75 52,5 98 300
3.BatpyLuku MyKa MnieH 35 35 4,24 0,4 27,5| 133,6
C TBOPOroMm cax. [ecok 10 10 5 18,9
M.CITMBOYH 5 5 0,06 3,6 0,04] 33,05
ANLO 15 15 1,1 1.4 0,1 13,7
CoJlb 1 1 75
OPOXOKM 3 3 0,2 0,04 1,1
MOJIOKO 10 10 0,5 0,6 0,9 11,6
M.pacTut 2 2 1,9 17,9
TBOpOr 40 40 0,1 19,6 74,1
UTOro: 303,95
NTOIO: 513,9
1. YXuH
1.Canar nyK 50 42 4,14 491 8,1
NYKOBbIV pact.macnd 5 4,99 44,95 48
CoJb 1 UTOro: 53
2.xapTodenb KapTogeny 300 216 5,01 0,72 31,19| 144,3
OTBapHOM C M. OTULbI 100 47 11,4 51 0,3 89,5
OTB. Kypuuen nyK 201 12,6 0,14 0,91 4,11230/47
MOPKOBb 20 12 0,13 0,01 0,71 3,3
Cf.macrno 4 0,22 2,03 0,073] 18,51
pacT.macnq 2 3,49 23,48
COMnb 1
UTOro: 283,19
3.Xneb ¢ macnom XN.nweH 87 87 7,6 0,9 49,71 187,2
XJ1.pXXaH 50 50 8,2 15 48,1 82,4
M.CITMBOYH, 15 15 0,2 10,8 0,1 99,1
| UTOro: 368,7




4.Kakao c Kakao 2 2 12,1 0,3 0,5 7,4
MOJIOKOM MOJIOKO 100 100 3,3 3,7 5,2 58,5 200
cax.necok 15 15 14,9 58
UTOro: 123,9
NTOIO: 828,8
2. YKuH
1.PskeHKa psKeHKa 200 200 5,86 3 22,54 140 200
2.koH. U3n. nevyeHbe 30 30 1,8 2,9 18,6 104,2 30
NTOIO: 2442
KANNOPUMHOCTb CYTOYHOIO PALUIMOHA NMUTAHUA COCTABJ1] 3664,3
13 [leHb |3aBTpak
1.Kawa mon puc 35 35 2,1 0,15 12,7] 103,55
pucoBas MOJIOKO 100 100 2,8 3,2 4,9 58
M.CIMBOYH 5 5 0,06 3,6 0,04| 33,05 200
Ccax.necok 8 8 11,2 31,8
COnNnb 1 1
226,4
2.6yTepbpon xneb niueH 100 100 7,6 0,9 49,7 187,2
M. CJIMBOYH 15 15 0,2 10,8 0,1 99,1]100/15
CbIp | 12 12 3,2 3,2 43,2 12/
konb. Bape 25 25 12,2 0,5 2449 25
UTOrO: 574,4
3.KopelH. Kodpe 3 3 0,6 0,1 4,7
HanNUTOK MOJIOKO 100 100 2,8 3,2 4.7 58 200
cax.necok 15 15 14,9 58
UTOro: 120,7
NTOIO: 921,5
O6en
1. Canat KanycTta 120 100 1,1 0,06 3 17,3
13 CB.KanycThbl MOPKOBb 15 12 0,1] 0,001 0,8 21,1
nyK 15 13 0,1 1,1 53 100
caxap 5 5 5 18,9
Macrno pac 5 5 5 449
CoJb 1 1
UTOro 107,5
2.Cync M.roBsj. 35 26,2 7,42 5,51 79,19
Kreukamm KapTodeny 140|] 100,8 3,7 54 29,3 120,1
CO CMeT. nyK 20 16,8 0,1 1,09 4,9
MOPKOBb 20 16 0,1 0,01 0,99 4,6
M.CIMBOYH 3 2 0,02 2,08 0,07 18,51 300
M.pacTuT. 3 2 1,99 17,98
COnb 1 1




cMeTaHa 10 10 0,2 2 0,3 20,6
MyKa 25 25 2,06 0,5 65,4
anua 5 5 1,1 1,4 13,7
CB.3e1eHb 10 10 0,03 0,24 11,1
npunpasa 1 1| 0,009 0,005 0,146 0,67
WTOrO: 346,75
3.KapT. ntope MSCO OB. 75| 57,5 19,5 12,8 184,9
C OTB. MACOM KapTod 300 216 4,05 7,45 47,9 198
nyK 20 12,6 0,25 0,48 5,19
MOPKOBb 20 12 0,39 1,27 8,24|260/57,5
CI1.macro 3 3,49 23,48
pacT.macnq 4 5,96 45,92
COnb 1 1
MOJI0KO 10 10 0,5 0,6 0,9 11,6
UTOrO: 465,73
4.xneb pxaH, pXaH 100 100 8,2 15 48,1 247,2
MWEeHWYHbIN nweH 50 50 3,8 0,5 24,8 108
UTOrO: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 ¢/ Cax.necok 15 15 15,3 60,5 200
UTOro: 99,8
NUTOIO: 1374,9
MongHuk
1.Cok hpykT. Cok 200 200 1 4,74 112 200
2.DpyKThl A6110KK 300 300 3,75 52,5 98 300
3.bynouka MyKa 35 35 4,24 0,4 27,5 133,6
LLUKOJTbHas caxap 5 5 5 18,9
anua 5 5 1,1 1,4 13,7
OPOXOKN 1,5 1,5 0,2 0,04 1,1 75
COJ1b 1 1
M.CITUBOYH. 5 5 0,06 3,6 0,04 33,5
M.pacTuT. 2 2 1,9 17,9
MOJI0KO 10 10 0,5 0,6 0,9 11,6
WTOrO: 229,85
NTOlO: 439,8
1.YXuUH
1.0TB AnuUo anua 40 5,08|4 6 0.28 162.8
canart nyK 15| #####10.14 0.91 414 55
NYKOBbIV pact.macnq 5 44.95
COJib 1
UTOro: 166,9
2. TyweHble Kanycrta 120 100 1,08| 0,06 2,8 16,2




oBOWM C | KapTogeny 120| 86,4 16,2 2,98 19,17 79,32
3arn. polbon nyk 30f 25,2 0,2 1,6 7,4
MOPKOBb 40 32 0,3 0,03 2,06 9,5(230/113
M.CITMBOYH. 5 5 0,06 3,6 0,04] 33,05
M.pacTut 2 2 1,9 17,9
CB. pbiba 220 108 25,8 1,4 115,2
CONb 1 1
npunpaea 1 1| 0,009 0,005 0,146 0,67
CB.3€J1EHb 10 10 0,05 0,26 1,3
WTOrO: 280,54
3.Xneb ¢ macnom Xn.nweH 100 100 7,6 0,9 49,71 187,2
XI.pXKaH 50 50 8,2 15 48,1 82,4
M.CINNBOYH | 15 15 0,2 10,8 0,1 99,1
UTOrO: 368,7
4 Man cn. yan 3 3 0,1 0,02 1,5
MOJIOYHbIN cax. lNecok 15 15 17,8 65,7 200
MOJIOKO 100 100 2,8 3,2 4,7 58
UTOro: 125,2
NUTOIO: 941,4
2. Y)KUH
1.PsxeHka psXeHKa 200 200 5,86 3 22,54 140 200
2.KoH. M3a. nevyeHbe 30 30 1,8 2.9 18,6f 104,2 30
NUTOIO: 2442
KANOPUMHOCTb CYTOYHOIO PALUMOHA MUTAHNA COCTABN| 3921,7
14 [eHb
3aBTpak
1.TBOPOXHMK TBOpOr 190 190 7,2 1,6 41 211,2
co cn. Cnponom MaHKa 15 15 0,03 8,05 38,7
cax.necok 25 25 225 79,5
cMeTaHa 15 15 0,2 1,5 0,24 15,6 240
M.CJTIMBOYH. 5 5 0,06 3,6 0,04] 33,05
anua 15 15 4,8 3,4 0,12 23,55
cax.necok 20 20 19,9 75,8
WTOrO: 477,4
2.bytepbpoa Xneb nwen 100 100 7,6 0,9 49,7 187,2
M.CJTIMBOYH. 15 15 0,2 10,8 0,1 99,11100/15
cbIp | 12 12 3,2 3,2 43,2112 25
konbaca B4 25 25 12,2 0,5 2449
WUTOrO : 574,14
3.KodhenHbin Kodpe 3 3 0,6 0,7 4.7
HanUToK MOJTOKO 100 100 2,8 3,2 4.7 58 200
cax.necok 15 15 14,9 58
UTOro: 120,7
NTOrIO: 1172,5

O6en




1.canat |
MOPKOBHBbIV MOPKOBb 115 110 0,1 0,001 0,8 30,3
caxap 5 5 5 18,9 100
M.pacTuT. 5 5 5 449
COIb 1 1
NTOro: 94 1
2.bopuy cMeTaHa 10 10 0,3 2 0,3 20,6
Ha k/6 co Kanycta 80 68 0,8 0,04 2,2 12,9
CMEeTaHoMn CcBeKna 80 68 0,7 4.3 19,6
nyK 20 12 0,1 0,09 0,99 4.9
MOPKOBb 20 16 0,1 0,01 0,99 4.6 300
M.CITMBOYH. 2 2 0,02 2,08 0,07] 18,51
roBsguHa 35| 26,2 7,42 5,51 79,19
COIb 1 1
KapTogeny 140 93 1,6 0,3 13,5] 68,06
npunpasa 1 1] 0,009] 0,005 0,146 0,67
CB.3€NeHb 10 10 0,03 0,24 1,1
NTOro: 230,13
3.01B. ['peyka MSICO FOB. 75| 57,5 19,5] 12,8 184,9
C rynsiLiom rpevka 50 50 4,05 7,45 47,9 198
nyK 20| 12,6 0,25 0,48 5,19
MOPKOBb 20 12 0,39 1,27 8,241180/75
cIn.macro 3 3,49 23,48
pacT.macnq 4 5,96 45,92
corb | 1
MyKa MnieH 5 0,41] 0,044 2,76 13,3
NTOro: 438,79
4.xneb pxaH, p>xaH 100 100 8,2 1,5 48,1 247,2
NLWEHNYHbIN nLeH 50 50 3,8 0,5 24,8 108
NTOro: 355,2
5.Komnot cyx/pyk. 20 20 0,7 8,2 39,3
n3 c/c cax.necok 15 15 15,3 60,5 200
NTOro: 99,8
NTOlO: 1218
MNongHuk
1.CoK OpyKT. Cok 200 200 1 4,74 112 200
2.PpyKThl AGIOKM 300 300 3,75 52,5 98 300
3.MnpoxKM ¢ MyKa nLleH 40 40 3,29 0,34 21,77] 104,69
a6nokamm caxap 10 10 9,98| 30,08
AnLo 5 5 1,16 1,14 2
OPOXKN 1,5 1,5
Conb 1 1 70
cn.macno 5 5 0,04 3,63 13,2 28,43
MOJI0KO 10 10 414 4,15 4,25 4,15
S10NOKN 50 50 0,22 0,2 5,38| 33,44
pacT.macnq 2 2 3,49 23,48
| WUTOro: 226,27




NTOIO: 436,3
1. YKUH
1.Canart NyK 50 42 4,14 4,91 8,1
NYKOBbIV pact.macng 5 4,99 44,95 48
conb 1 WUTOrO: 53
2. OTBapHas CBeKna 120 100 0,84 2,73 13,65
cBekna
3.01BapH. Mak.n3geny 50 50 5,8 0,7 38,2| 1864
MaKapOHbI M.CITMBOYH 3 3 0,04 2,1 0,02 19,8
C OTB. Kypuuen M.pacTuT 3 3
cornb 2 2 170/47
nyK 20 16,8 0,1 1,09 49
MOPKOBb 20 16 0,1 0,01 0,99 4.6
npunpasa 1 1] 0,009| 0,005 0,146 0,67
M. MTULbI 100 47 11,4 5.1 0,3 89,5
WUTOrO: 318,95
4.Xneb ¢ macrnom Xn.nweH 100 100 7,6 0,9 49,71 187,2
XI1.pXKaH 50 50 8,2 1,5 48,1 82,4
M.CJTUBOYH. 15 15 0,2 10,8 0,1 99,1
WTOro: 368,7
5.Kakao ¢ Kakao 2 2 12,1 0,3 0,5 7,4
MOJTOKOM MOJIOKO 100 100 3,3 3,7 5,2 58,5 200
cax.necok 15 15 14,9 58
WTOro: 123,9
NTOrIO: 509,5
2. YXuH
1.PskeHka psKeHKa 200 200 5,86 3 22,54 140 200
2.koH. U3n. nevyeHbe 30 30 1,8 2,9 18,6 104,2 30
NTOrIO: 2442
KANOPUMHOCTbL CYTOYHOIO PALIMOHA MUTAHUA COCTABIJI] 3580,5

























































































































































































































































































































































































































































































































































































































